
ESTRUCTURA : RUEDA TRASERA Y EJE TRASERO
 

RUEDA TRASERA Y EJE TRASERO

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description Ref. Título Código
1 SOPORTE

CONECOR
DE EJE

TRASERO
2 BUJE

3

4 RETEN
46X62X8

5 TORNILLO 11-80335

                        1 / 4

https://cprrepuestos.com.ar/images/stories/virtuemart/product/rueda trasera y eje trasero.jpg


ESTRUCTURA : RUEDA TRASERA Y EJE TRASERO
 

Ref. Título Código
M12 X 1.25

X 155
6 11-80605

7 TUERCA
M12 X 1.25

11-80460

8 TORNILLO
M10 X 1.25

X 160

11-80325

9

10 TUERCA
M10X1,25

11

12 TORNILLO

13 TUERCA A 11-80405

14 LLANTA 9
X 8.5AT

15

16 NUCLEO
DE

VALVULA

17 MAZA DE
RUEDA

TRASERA

18 TORNILLO
ESTRIADO
M10 X 1.25

X 30
19 TUERCA

M10X1,25

20

21 11-80625

22 TUERCA
M14 X 1.5

                        2 / 4



ESTRUCTURA : RUEDA TRASERA Y EJE TRASERO
 

Ref. Título Código
23 CHAVETA

2.8 X 28
11-80550

24 SOPORTE
DE

CORONA

25 CORONA

26 TORNILLO
M10 X 1.25

X 28

27 TUERCA
M10X1,25

28 EJE
TRASERO

86CM

29 TUERCA A

30 STOP DE
REVERSA

31 CADENA

32 ESLABON
DE UNION

11-80015

33 IMAN

34 CAPTOR

35 TUERCA
M10 X 1

36

37 RUEDA
TRASERA
ARMADA

11-900-2

 

 

 

 

 

                        3 / 4



ESTRUCTURA : RUEDA TRASERA Y EJE TRASERO
 

 

Powered by TCPDF (www.tcpdf.org)

                        4 / 4

http://www.tcpdf.org

